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PREVIEW QUESTION BANK

Module Name : nou24-1b04 BLII-014- ICT in Libraries-ENG
Exam Date : 18-May-2024 Batch : 09:00-12:00

Sr. | Client Question

No D Question Body and Alternatives

Objective Question
1 15271001
Who is known as the father of computer?

1. Allen Turing
2. Augusta Adaming
3. Charles Babbage
4. Simur Cray

Al:1

A2:2

A3:3

Ad 4

Objective Question
2 15271002
SOUL software consists of -———- modules.

1. Four
2. Five
3. Six

4. Seven

Al:1

A2:2

A3:3

Ad 4

Objective Question

3 15271003
Which of the following is not hardware?

1. Processor
2_ Printer

3. Mouse

4. Java
Al:1

A2:2
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A3:3

Ad 4

Objective Question
4 15271004 2.0 0.00
The ARPANet was developed in————— —

1. 1969
2.1979
3. 1989
4. 1999

Al:1

A2:2

A3:3

A4:4

Objective Question

5 15271005 2.0 0.00

____________ allows users to browse websites and access information on the internet.

1. Word processing software

2 Web browser

3. Antivirus software

4 General Unification Interface

Al:1

A2:2

A3:3

Ad:4

Objective Question

6 15271006 2.0 0.00
EDSAC stands for:

1. Electronic Delay Storage Automatic Computer
2. Electronic Discrete Storage Automatic Computer
3. Electronic Delay Serial Automatic Computer

4. Electronic Discrete Serial Automatic Computer

Al:1

A2:2

A3:3
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A4:4

Objective Question
7 15271007 2.0 0.00
The most popular type of commercial operating system is

1. Linux

2 Unix

3. Ubuntu

4 Microsoft Windows

Al:1

A2:2

A3:3

A4:4

Objective Question
8 15271008 2.0 0.00
----------- acts as an interface between the user and the computer hardware?

1. Operating system

2. Utility software

3. Application software
4 Firmware

Al:1

A2:2

A3:3

A4 4

Objective Question

9 15271009 2.0 0.00
Which of the following is the largest storage unit?

1. Kilobyte
2. Megabyte
3. Gigabyte
4. Terabyte
Al:1

A2:2

A3:3

A4 :4
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Objective Question
10 15271010 2.0 0.00
In ————, the "LibreOffice suite” was developed.

1.2010
22011
3.2012
4.2013

Al:1

A2:2

A3:3

Ad:4

Objective Question
11 15271011 2.0 0.00
Windows version of CDS/ISIS is named as

1. WINISIS

2. WISIS

3. Windows ISIS

4. WINCDS

Al:1

A2:2

A3:3

A4 :4

Objective Question

12 15271012 2.0 0.00
Which of the following enables a bi-directional communication facility?

1. TELNET

2. SMTP

3. FTP

4.739.50

Al:1

A2:2

A3:3

A4:4

Objective Question
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13 15271013 o —
SGML stands for -—————

1. Standard general markup language

2. Standard generalised markup language
3. Simple generalised markup language
4 Standard generic markup language
Al:1

A2:2

A3:3

Ad 4

Objective Question
14 15271014 2.0 0.00
FRBR is a conceptual data model proposed by—————

1. IFLA
2 ILA

3. LC

4 0OCLC
Al:1
A2:2
A3:3
A4:4

Objective Question

15 15271015 2.0 0.00

Which of the following is not an input device?

1. Scanner
2 Camera
3. Plotter
4. Digitizer
Al:1
A2:2
A3:3

Ad:4

Objective Question
16 15271016 2.0 0.00
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Objective Question

17

Objective Question

18

Objective Question

19
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15271017

15271018

15271019
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............... designed the 'Open J-Gate' Portal.
1. Informatics India

2. Infosys Ltd

3. Libsys corporation

4. National informatics center

Al:1

A2:2

A4 4

Which of the following is the function of the "Ctrl + Z" keyboard shortcut in
LibreOffice?

1. Zoom out the screen
2. Undo the last action
3. Copy text

4. Paste the text

Al:1

A2:2

A3:3

A4 :4

Which component of LibreOffice is used to create and edit charts and graphs?

1. Writer
2 Calc

3. Impress
4. Draw
Al:1
A2:2

A3:3

Ad:4

2.0

2.0

2.0

0.00

0.00

0.00
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Objective Question

20

Objective Question

21

15271020

15271021
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Which of the following is not a function of library housekeeping?

1. Cataloguing and classification
2_ Circulation of library materials
3. Library collection development
4. Shelving and shelf arrangement

Al:1

A2:2

A3:3

Ad:4

2.0
Which of the following is not open source library automation software?

1. Evergreen
2 Koha

3. Libsys

4 NewGenLib

Al:1

A2:2

A3:3

A4 :4

2.0

Given below are two statements, one is labelled as Assertion (A) and other one
labelled as Reason (R).

Assertion (A): RAM is a type of volatile memory that holds data that the CPU is
actively consuming.

Reasoning (R): RAM stores files and applications even when the computer is turned
off.

In light of the above statements, choose the correct answer from the options given
below.

1. Both (A) and (R) are correct and (R) is the correct explanation of (A).

2 Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).
3. (A) is correct but (R) is not correct.

4 (A) is not correct but (R) i1s correct.

Al:1

A2:2
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Objective Question

22

Objective Question

23

15271022

15271023
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A3:3

Ad 4

Given below are two statements, one is labelled as Assertion (A), and other one
labelled as Reason (R).

Assertion (A). Libraries may customize and modify the source code of Open Source
Library Management Software to meet their users demand.

Reasoning (R): Open Source Library Management Software is only accessible for
commercial usage and requires a licensing fee.

In light of the above statements, choose the correct answer from the options given
below.

1. Both (A) and (R) are correct and (R) is the correct explanation of (A).

2. Both (A) and (R) are correct but (R) i1s NOT the correct explanation of (A).
3. (A) is correct but (R) is not correct.

4 (A) is not correct but (R) Is correct.

Al:1
A2:2
A3:3

A4 :4

Given below are two statements, one is labelled as Assertion (A) and other one
labelled as Reason (R).

Assertion (A): The circulation desk is the pnmary location where library users borrow

and return materials.

Reasoning (R): Apart from check-in and check-out of materials, library personnel at
the circulation desk have no other duties.

In light of the above statements, choose the correct answer from the options given
below.

1. Both (A) and (R) are correct and (R) is the correct explanation of (A).

2 Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).
3. (A) is correct but (R) is not correct.

4 (A) is not correct but (R) i1s correct.

Al:1

A2:2

A3:3
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Objective Question

24

Objective Question

25

Objective Question

26

15271024

15271025

15271026

A4 :4
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Given below are two statements, one is labelled as Assertion (A) and other one

labelled as Reason (R).

Assertion (A): LibreOffice Calc is a spreadsheet application that allows users to do

calculations and make charts.

Reasoning (R): LibreOffice Calc does not support Microsoft Excel file formats.

In light of the above statements, choose the correct answer from the options given

below.

1. Both (A) and (R) are correct and (R) is the correct explanation of (A).
2 Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).

3. (A) is correct but (R) is not correct.

4 (A) is not correct but (R) i1s correct.

Al:1

A2:2

A3:3

A4 :4

Which of these is not a web browser?

1. Web 3.0
2_Internet Explorer
3. Moazilla

4 Netscape

Al:1

A2:2

A3:3

A4 :4
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Match List-l with List-lI

List- List-ll

(A). NewGenLib|(). Open-source integrated library management system

(B). SOUL (I1). Integrated library system by INFLIBNET

(C). CDS/ISIS  |(I). Proprietary software for library automation

(D). Libsys (IV). UNESCO-developed software for bibliographic information

Choose the correct answer from the options given below:

1.(A) - (1), (B) - (1), (C) - (1IV), (D) - (1)
2.(A) - (IV), (B) - (In), (C) - (1), (D) - (D)
3. (A)- (), (B) - (), (C) - (IV), (D) - (D)
4. (A) - (), (B) - (In), (C) - (1), (D) - (V)

Al:1

A2:2

A3:3

Ad 4

Objective Question

27 15271027 2.0 0.00

Match List-l with List-ll

List-l List-ll

(A). Cataloguing |[(1). Arranging library resources in perfect order on shelves

(B).Classification |(Il). Assigning subject-specific call numbers to library materials

(C). Shelving (). Systematically recording information about library materials

(D). Circulation (IV). Borrowing and returning library materials to users

Choose the correct answer from the options given below:

1.(A) - (1), (B) - (1), (C) - (1), (D} - (1V)
2. (A) - (I, (B) - (I, (C) - (1), (D) - (V)
3.(A)- (1), (B) - (1), (C) - (V) (D) - (1)
4. (A) - (I, (B) - (V), (C) - (1), (D) - (1)
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Al:1

A2:2

A3:3

Ad 4

Objective Question
28 15271028
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Match List-l with List-lI

List-l

List-ll

(A). Writer

(1). Spreadsheet software that allows you to create and modify
spreadshests

(B). Calc

(I). Presentation software, which is used to create slideshows and
presentations

(C). Impress

(I11). Word processing software for document creation

(D). Draw

(IV). A vector graphics editor is used to create diagrams and
illustrations

Choose the correct answer from the options given below:

1. (A) - (IV), (B) - (IN), (C) - (1), (D) - (1)
2.(A)- (1), (B) - (1), (C) - (1m), (D) - (V)
3. (A) - (I, (B) - (1), (C) - (), (D) - (V)
4. (A) - (I, (B) - (IV), (C) - (1), (D) - (1)

Al:1

A2:2

A3:3

A4 :4

Objective Question
29 15271029
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Match List-l with List-lI

List-l List-ll

(A). Discharge|(l). Increasing the loan period for library materials

(B). Renewal |(Il). Removing materials from a user’s record upon their return

(lI1). Notifying users that checked-out items must be returned due to

C). Recall
(). Reea high demand

(D). Holds (V). Managing things that users have reserved

Choose the correct answer from the options given below:
1. (A) - (IV), (B) - (1), (C) - (1), (D) - ()

2. (A) - (1), (B) - (1), (C) - (1), (D) - (IV)

3. (A) - (), (B) - (1), (C) - (1), (D) - (IV)

4. (A) - (1, (B) - (IV), (C) - (1}, (D) - (1)

Al:1

A2:2

A3:3

A4 :4

Objective Question

30 15271030 2.0 0.00
Which of the following is an example of open-source library automation software?

1. E-granthalaya
2 Libsys

3. NewGenlib

4 Virtua

Al:1

A2:2

A3:3

Ad:4

Objective Question
31 15271031 2.0 0.00
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Objective Question

32

Objective Question

33
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Keep the following steps in the right order to insert a new slide in LibreOffice

Impress:

(A\). To right-click on the slide panel

(B). Choose "Insert Slide" from the menu

(C). Choosing the slide arrangement

(D). The presentation adds the new slide

Choose the correct answer from the options given below:

1.(B), (C), (A), (D).
2.(A), (B), (C), (D).
3.(B), (A). (D), (C).
4.(C), (B), (D), (A).

Al:1

A2:2

A3:3

A4 :4

Arrange the following storage capacity in ascending order:
(A). Kilobyte (KB)
(B). Terabyte (TB)
(C). Megabyte (MB)
(D). Gigabyte (GB)
Choose the correct answer from the options given below:
1. (A), (B), (C), (D).
2.(A), (C), (D), (B).
3. (B), (A), (D), (C).
4. (C), (B), (D), (A).
Al:1
A2:2

A3:3

A4:4

2.0

2.0

0.00

0.00
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Adware is sometimes called

1. Shareware

2 Abandonware
3. Donationware
4. Spyware

Al:1

A2:2

A3:3

A4 4

Objective Question

34 15271034 2.0 0.00
The Integrated Library System (ILS) is also known a5-—-—-—-——

1. Library Management System

2. Cataloguing of Book Management System
3. Cataloguing and Classification System

4. Library Organization System

Al:1

A2:2

A3:3

A4 :4

Objective Question

35 15271035 2.0 0.00
Dublin Core Metadata” includes the following:

1. 12 elemenis
2 13 elements
3. 14 elements
4 15 elements

Al:1
A2:2
A3:3
Ad:4
Objective Question
36 15271036 2.0 0.00
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Which is the most crucial component of a computer system?

1. ALU
2 CPU
3 CcuU

4. Qutput

Al:1

A2:2

A3:3

A4 4

Objective Question

37 15271037 2.0 0.00
A parallel port is most often used by

1. Scanner
2 Printer
3. Keyboard
4 Mouse

Al:1

A2:2

A3:3

A4 :4

Objective Question

38 15271038 2.0 0.00
URL stands for:

1. Universal Resource Locator

2 Uniform Resource Locator

3. User-Friendly Resource Locator
4. Unique Resource Locator

Al:1
A2:2
A3:3
Ad:4
Objective Question
39 15271039 2.0 0.00
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Which of the following is System Software?

1. Microsoft Word
2. Microsoft Excel
3. Adobe Photoshop

4 Windows 7
Al:1
A2:2
A3:3
A4:4
Objective Question
40 15271040 2.0 0.00
Which of the following search engines completely provide information related to
science?
1. Altavista
2. Google
3 SCIRUS
4 Yahoo
Al:1
A2:2
A3:3
A4:4
Objective Question
41 15271041 2.0 0.00

is RAM that combines the fast read and write access of Dynamic RAM.

1. VRAM

2. WRAM

3. MRAM

4. FRAM

Al:1

A2:2

A3:3

Ad:4

Objective Question
42 15271042 2.0 0.00
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The protocol 15 designed to handle real-time internet traffic.

1. FTP
2 RTP
3.TCP
4 UDP

Objective Question
43 15271043 2.0 0.00

1. World wide wonder

2. World wide wizard

3. World wide web

4. World wide website

Al:1

A2:2

A3:3

A4 :4

Objective Question

44 15271044 2.0 0.00
CDS/1SIS was developed by-——————-

1. FID

2 IFLA

3. 0CLC

4. UNESCO

Al:1

A2:2

A3:3

A4 :4

Objective Question

45 15271045 2.0 0.00
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Objective Question

46

Objective Question

47

Objective Question

48
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15271046

15271047

15271048
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ISP stands for:

1. Internet Security Protocol
2_Internet Services Platform
3. Internet Service Provider
4 Internet Server Provider
Al:1

A2:2

A3:3

Ad:4

What is the purpose of implementing RFID technology in libraries?

1. To track the movement of library staff

2 To track the library users

3. To provide free Wi-Fi access

4. To track and manage library resources efficiently
Al:1

A2:2

A3:3

A4 :4

As part of the NISSAT project ——————— developed "SANJAY"

1. INFLIBNET

2. MALIBNET

3. INSDOC (now NIScPR)
4. DESIDOC

Al:1

A2:2

A3:3

A4 :4

2.0

2.0

2.0

0.00

0.00

0.00
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Objective Question

49

Objective Question

50
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15271049

15271050
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Which of the following is not an example of web browser?

1. Internet Explorer

2. Mozilla Firefox

3. Microsoft Paint

4. Microsoft Edge

Al:1

A2:2

A3:3

Ad:4

Which of the following groups consists of only Input devices?

1. Mouse, Keyboard, Monitor

2. Mouse, Keyboard, Printer

3. Mouse, Keyboard, Plotter

4. Mouse, Keyboard, Scanner

Al:1

A2:2

A3:3

A4 :4

MICR stands for:

1. Magnetic Ink Colour Recognition

2. Magnetic Ink Code Recognition

3. Magnetic Ink Computer Recognition

4. Magnetic Ink Character Recognition

Al:1

A2:2

A3:3

A4 :4

2.0

2.0

0.00

0.00
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